3
()
( )
( ! )
(
systolic ( g)
diastolic ( Hg)
( / )
FT4
(ngldl)
TSH
(sLxurmi)

1. Hashimoto's thyroiditis

17

FT4  TSH

(mean)

34.94

53.59

1.97

20.18

112.35

71.18

76.94

1.25

2544

standard

deviation
6.55
8§.72

0.51

23.56

10.91

2544

22.00

44.50

100
60

68

44.00

70.00

3.31

87.00

140

80

84
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3 (17.6%) 14 (82.4%)
3494 * 6.55 22 44

(Hashimoto’s thyroiditis) 8

(1L I treatment) 8 (thyroidectomy) 1
Iévothyroxine 197 + 051 / /
1.37 / / 331 /
20.18 + 23.56
2 87
' 53.59 + 8.72 445
70 systolic 112.35 Hg "' 100- 140 Hg
diastolic 71.18 Hg 60 mmHg 80 Hg
68- 84 / 76.94 |/
FT4 TSH FT4 125+ 0.19
ng/dl 0.88 ng/dl 169 ng/dl TSH 1.93 + 1.24 JLum
TSH 0.3 p,u/ml  TSH 4.00 1AM
LT4

post subtotal thyroidectomy

Hashimoto’ s thyroiditis 59

post radioiodine treatment
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FT4 TSH 2 3
LT4 7
FT4 1 "4 091 ng/dl
(=018 95% Cl = 082- 101 ng/di) 0.59 ng/dl 1.20 ng/dl
FT4 6
TSH T4 7 1214 /1 =1543
95% Cl = 421 - 20.07 [ 1) 065 | 62.73 /|
2 FT4 FT4 163 ng/dl (= 0.23,
95% Cl = 151 - 1.75 ng/dl) 121 ng/dl 1.92 ng/dl TSH
409 /m ( =381 95%Cl =213- 604 [ ) 0.44 -1543  /ml
3 FT4 1.48 ng/dl (= 0.23, 95% Cl = 1.36 -
1.60 ug/dl) 1.06 ng/dl 1.78 ng/dl TSH
TSH 2.83 / ! ( =264, 95%Cl=1.48-419 [ )
4 FT4 1.37 ng/dl (  =0.21,95% CI 1.27 - 1.48 ng/dl)
TSH 241 Im( =243 95%Cl=116- 365 / !
LT4 2 FT4
1.02 ng/dl (= 0.16, 95% CI = 0.93 - 1.10 ng/dl) FT4 2
TSH 719 / 1 =916, 95% Cl= 2.48

-11.90 / )



FT4

TSH

FT4 (0.8-1.8 ng/dI)

FT4 95% confidence interval

TSH (0.3- 4.1 JXUi)
TSH  95% confidence interval

31



(mm Hg)

(mm Hg)

(
FT4

TSH

systolic

diastolic

)
(ng/dl)
(i

)

53.55
736.76

9.94

111.18

72.35

75 65

115
6.03

8.61
218.50

0.97

12.19

6.64

4.37

0.20
7.71

min

44.00

450.00

9.00

100.00

60.00

70.00

0.84
0.00

max

69.00
1400.00

12.00

140.00

80.00

86.00

154
24.62

32

95% Cl of mean

49.12-57.97

624.42-849.11

9.44-10.44

10491 - 117.44

68.94-75.77

73.40-77.89

1.04-1.25
2.07-9.99



5
( ) 53.59 + 8.72
systolic (mm Hg) 112.35+ 10.91
diastolic (mm Hg) 71.18+6.97
C 7)) 76.94 + 5.30
FT, (ng/d) 1.25+0.19
TSH (pu/ml) 1.93+ 1.24

+ SD
FT,
LT,
TSH
‘4

paired ttest (2 - tailed)

53.55+8.61
111.18+12.19
72.35+ 6.64
75.65+4.37
1.15+0.20°

6.03+ 7.71e

LT,

3

Std.Error of
difference

0.16

1.46

118

0.80

0.07

1.80

95% CI of
difference

-0.29, 0.37
-1.91,4.26
-3.67, 1.32
-0.41, 3.00
-0.04, 0.25

-792,-0.28

33

p value d

0.80
0.43
0.33
0.13
0.15

0.04
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"4 9-12
9.94
4
5
' 53.55+ 8.61 (95%Cl= 49.12-57.97 )
736.76 + 218.50 (95% Cl =
624.42 - 849.11 ) 450
1400 700
systolic 111.18+ 12.19 Hg (95% Cl = 104.91 -
117.44 Hg) diastolic 72.35 + 6.64
Hg (95% Cl = 68.94 - 75.77  Hg) "1

75.65 + 4.37 / (95% CI = 73.40 - 77.89

(P=0.13)

[ R S I NS )

17.65
11.76
1176
1176

I

FT4



ng/dl

2.04
|
125 !
' 1.70
T
X
102
--------------- [
1 2
4
5

1.83 174
T
T
X X 1.25
1.54 143 T
X
1.06
I ! 1 1 1 %
3 4 5 6 I 8
FT4
FT4 (0.8-1.8 ng/dl)
FT4 95% confidence interval
TSH

TSH (0.3-4.1 IXUImI)
TSH  95% confidence interval
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TSH
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FT4

TSH

37
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thyroid status FT4, TSH
1 8 7
7 thyroid status LT4
()
euthyroidism 8 47.10
subclinical hypothyroidism 7 41.20
subclinical hyperthyroidism 2 11.80
euthyroidism 8 47.10%
subclinical hypothyroidism 7 41.20% subclinical hyperthyroidism 2
11.80% euthyroidism
4 1.83 + 0.23 (dg/kg/d subclinical hyperthyroidism
3.08 + 0.32 |dg/kg/d (Std. error of difference =
0.19, 95% Cl = - 1.71, - 0.81 JUg/kg/d P < 0.001) subclinical
hypothyroidism 1.82 JLlg/kg/d euthyroidism
FT, FT4

(Std. error of difference = 0.07, 95% Cl of difference = - 0.04, 0.25 ;
P=0.15)
TSH TSH TSH
4.10 fiU/ml (Std. error of difference = 1.80, 95% Cl of
difference = - 7.92, - 0.28 /)
(P =0.04)
euthyroidism
80% euthyroidism

47.10% (P < 0.05)
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8 LT4
Standard
« ) '- Ng/kg/d deviation
Hashimoto’s thyroiditis 8 1.99 041
post radioiodine treatment 8 1.93 0.64
post subtotal thyroidectomy 1 2.19 -
9 LT4
I LT4 + SD  std. error of 95% dl of p value b
( ) [Xgkgd difference3 difference3
Euthyroidism 8 1.83+0.23
Subclinical 7 1.82+0.37 0.16 -0.34,0.34 0.99
hypothyroidism
Subclinical 2 3.08+0.32 0.19 -171,-081 <0.001
hyperthyroidism
a euthyroidism t- test for equality of means

2 tailed t - test, variance 2
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(ng/dI)

(ng/di)
(ng/dl)

(ng/dI)

Std. error mean of difference

95% Cl of difference

p value b

b

FT4

paired t —test

F14 2,3
FT4 3

FT4 3  FT4 2

115 1.87
- 0.73
154 2.62
0.84 1.36
0.07

0.58,0.87

<0.01

FT4

Fi4 3

1.69

0.54

2.32

124

0.06

0.42 10.67

<0.01

41

FT4 4

159
0.44
231
115
0.04
0.36,0.52

<0.01
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1 TSH 23 4
TSH 3
TSH 3 TSH 2 TSH 3 TSH 4
(fj.1l/mlI) 6.03 2.57 2.02 1.59
((3.u/ml) -3.45 -4.01 -4.44
(pu/ml) 24.62 9.81 11.63 8.09
(p.u/ml) 0.00 0.00 0.00 0.00
Std. error mean of difference 1.18 1.28 1.40
95% Cl of difference -596 ,-095 -6.74 ,-129 -7.42,-1.46
p value b 0.01 0.01 0.01
a TSH TSH 1 8
paired t —test
FT4 2, 3 4 FT4
(P < 0.01) TSFI
2, 3 4 TSH
(P=0.01) 10 n
TSPI 1,2,34 8
12 TSH 5 6
euthyroidism , TSPI 5
2 hypothyroidism , TSP
2 hyperthyroidism
7 TSPl
2 TSPI 4 2 TSPI 1 3



TSH
LT4

TSH

TSH

TSH

euthyroidism

hypothyroidism
TSH
(P =0.06) LT4
( p<0.01 )
(P=o021)
FT,

(p=0.09) FT,
(r=-049 :P<005)

TSH

(P=010)

LT, 1
TSH
TSH
TSH
TSH

(P <0.01)

TSH

13

LT4

= 0.61

43
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TSH

euthyroidism

TSH

1,2, 3,4

subclinical
hypothyroidism
()

8

subclinical
hypothyroidism
()

17

44



13 TSH 1,2, 3, 4 8

|évothyroxine ( '4)

w
TSH + Hashirnoto's Post Post
(flg/kg/d) thyroiditis radioiodine subtotal
treatment  thyroidectomy
() () ()
1.88+0.25 S 1 0
5
2.15+0.39 0 2 0
5
' 3.08+0.32 1 1 0
5
1.68+0.25 2 4 1

197 +0.51 8 8 1
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